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200000000 8SU(2)03000000 SO(3)00000O0 Lie0DODOOOO,00000000DO
0000000000000 00O0DO0DO0DO0ODO0OD. D0O0O,0000 8SU(2)0 SOB)DoDOOOD
0000000oo0oO0oD. 00 SO(B)D0000D SU(2)L00 2000000000 SU(2)0OOOD
oooooooo0oooo0o0O0.000oooo0o0ooO000, Lied00O0OO0OO0O0OOOOOODOOOO.

1 SU2oUoooooooooo

V, 02000000 n0000000000O0O0O0.O0O0O0O,
Vi i={aoz! + a127 t2g + -+ an2y ; ag, ..., an € C} < Clzy, 22].

V,0000O0000000000,V,0000 {27, 20 ', ..., 22} 00000000, dimV, = n+ 1
ooo.

SU(2)00000D000DDOO0O (CzljDDDD:g:[a e SU(2), z=(21,20)eC2000D0O,

Cc

SU(2) x C? 3 (g, 2) — gz = (az + bza, cz1 + dzp) € C?

00o000,gO0C201000000.
000, sU()0 V,0000 m, O

SU(2) x Vo3 (9, ) = (mn(9))(2) := fg~'2) € Van
000000000, 00,9eSUQ), feV,0000,

(70 (9) f) (21, 22) = f(dz1 — bza, —cz1 + az2) €V,

a/ /

goooo,w,0V,0O ].DDDDDD.DDD,Zl/:leb22722/2021+a22,gl:l/ 7
c

1DDDD,
(mn(9)mn (9') £) (21, 22) = (mn(9) f) (21", 22")

fldz'=b 2, —dz +d'2))

= f((d'd+bc)zy — (d'b+ba)za, —(d'd + d'c)z1 + (b + d'a)za)
= (mn(99')f) (21, 22)

0000000, mm(gy) = mu(9)me(¢’) 000, 0000 m(g)ma(g™") = mnlgg™") = mu(I) = idy, O
oooo, (D00 1000000. 000,0000 7, :SU(2) - GL(V,)O SU(2)0 V,000



oo0oooo. 000V, 000 »" % (k=0,1,2, ..., n)0000 7(¢) 000000 gOOO
a,b,c,deCO0000000OOO,000 7 000000.0007,0000000*. 000 SU(2)0
oooooooooooo. (m,V,) 0000000000 4000000.

00 11 000,0 GO0O0 XO000OUOO0O0o0OO0O, XO0000o0ooooooooo Goooao
(L(g)f)(z) := f(g~'z) (g€ G, e X)0DOODODO,L00 GOODOOODOO. D000 LOODOOO
(left regular representation) 0 0 O .

2 OOOood

o0,vocOooouooooouoooooo.

SU(2)oooo
L— p— a 0 . p—
T:= {ta—[o a_l] ; a€C, a|—1}

00000,7T~0U(1)000.U(1)00000000000000000 (terus) 00D, SU(2)000D0
TOOOOODDOTOO00000000000000000000,70S0U()00000000000. O
0,SU()00007T0TcT'0,00n>100007 ~T"0000000,7’0700000. 0
0000,70 SUR)0D000000 (maximal torus) D0000.

00 2.1 00000 LieD GO LieODO g000. GOOOODOODO TO ¢g000000000 tO0O,
T=expt, t=Lie(T)00D0 10100000,

SU(2)000000 (p,V)0 TO00000007010000000000000:V =@),Cu;.
000,VDOOOOO0OD0DD00000,0 00 {pte) ; t € T} 0D0DO00000D0DO0O0O0,
p(t,):V -V ODO0O0tel00000000D000000.000,VO {pt.); t,eT}000000
000000000000000.0000

V=@ V(m)

meW,
000. 000,V(m) :={veV; pltyv =am, Vt,e T} OO0* W, :={meZ; V(m) # {0}} O
dmV <oo000000000. 0000070000 (p,V)ODOODODOO (weight decomposition) O
0g,w,000 pO000D0O (weight), W,0ODOOO pO000O000 (highest weight), V(m) OO0 00O
OmO000000000 (weight space) 000 . dimV(m)00000 mO000 (multiplicity) 00O
og.
0100 (7,,V,) 0000000000, f(z1,20) = 21" F2F 000

(n(ta) ) H =/ (tl 1 H) =1 []

_ (aflzl)n7k<a22)k _ a2k7nzln7k22k
_ 2k—n 21
~ei[2)

“l e 0000000000000 000000000. 000,000 Le0000OO00OO.
*2y(1)00000000000. 000U(1)00000000000000000.




00,VQRk—n)={feV,; mu(ta)f =a®*"f Vt,e T} =Cxy" *2k000. 000,
Vo=Cun"®Cx" 2@ - ®Cz"

0700000000000000,Ws,, ={-n, -n+2, —n+4, ..., n}, 7, 00000000 n, O
000000000 1000.
0oo (rV,) 0 “000000 00000”00000,

3 00000 Le0ODOOOOO

0000 g:Rate gt)e GL(n,C)O, 000 s, teRODOD, g(s+1t) =g(s)g(t) 0000000
GL(n,C)0 100000000 (one-parameter subgroup) D0 0. GL(»,C) 0 10000000000
0ooooDOoooooooo™s.

00 3.1 10000000000000000,¢(0)=1,90) '=g(-)00000. 000 g(s)g(t) =
g(s+1t)=g(t)g(s)000. 000 GL(n,C)0 1000000000 GL(»C)0D0O0O0O0DO0OO0.

00 3.1 {g(t); teR} 0 GL(»,C)0 100000000000, ¢()0 ¢000000000000,
J0)=X (Xegl(n,C)~Mn,C)DOODO,

g(t) =exptX (VteR)

O00o0ooooo. Xo0gO0Ooooooooooo.

0000 3200000000,00000000000,00000.

00 3.1 000X, Yegl(n,C)OODOD,

n—o0

X Y\"

lim (expexp) =exp(X +Y)
n n

ooooo.

00 Lied GOOO (p,V)ODO,0000000 GO LieO gDDDDDDDD*4.
00 3.2 p000 Lied GOO GL(V)ODOODODOODOO,000eeG00OOO pOOO

d
dpe : Te(G) 2 X — dpe(X) = %p(exth) 0 € Tp(e)(GL(V))

t=

0 GO LieD g00 GL(V)D LieO g(V)OODODODOODOOOO,

plexptX) = exp(tdp.(X)) (VteR)

oooo.

00 00,Xeg(V)DODO, plexp(t+s)X) = plexptX expsX) = plexptX)p(expsX) DO DO
R >t plexptX) e GL(V)D GL(V)0 10000000000000,00 3100, plexptX) =
exp(tdp.(X))OOODOO.

*3n:1|]DDD,DDDU(l)DDDDDDDDDDDDDD.DDDD,DDDDDDDDDD fO000000DO0ODOOOOOD.
*QL(n,C)00000 GOOO LiedOOO0O,G0O Lied g0 g:={Xegl(n,C); exptXeG, VteR} 00ODOO.



00,dp.0g00gl(V)OO Lie000D0OOO0O0O0O000OO.
000: 000aeR, XegOODOO, dp.(aX) = adp(X)0OOOOO00. 00310 p0O0000
0,000¢teR, X, YegOOonQ,

exp(tdpe(X +Y)) = plexpt(X +Y))

. t t o\ , t t\"
=p| lim |[exp—Xexp—Y = lim p| |exp—Xexp—Y
n—00 n n n—0 n n

= lim <p (exp tX) o <exp tY)) = lim (exp Ealpe(X) exp tdpe(Y))
n n n n

n—0o0 n—0oo0

= expt (dpe(X) + dpe(Y)) .

000,0000000¢=0000000000000, dpe(X +Y) =dpe(X) +dpe(Y)DDD.
00000000: Z(t) := plexptX)dp.(Y)p(exptX)~* O000. Z(t)plexptX) = plexptX)dp.(Y) O
oopbOo,0000000t¢+t=0000000000

(00) = Z/0)0e) + Z(0) % plexptX)| = 2'(0) + dpu(¥)dpo(X),

(0o)= (exptX) t=0dpe(Y) = dpe(X)dpe(Y).

d
d p
00ag, Z'(0) = dpe(X)dpe(Y) —dpe(Y)dp(X)OOO. 0O, g1(t) :=exptX, g2(s) :=expsY 00O O,

Z'(0) = %Z(t) .
= L (olor () dpe (¥ )plan (1)) L = i (oo frtanto|_ o) |,
= L oD || = S @ ean )] |
jtci,p(eXp (sq1(t)Y g1 (t)™1)) o~ OLZO ddpe (1 ()Y gr(t)71) o
= dpe <;tg1(t)Yg1(t) 1 ~ ) = dp. <jt exptX)Y exth)l‘t_())
— dp. ([X,Y])
00000 000,000 X, YegOOOO, dpe([X,Y]) = [dpe(X),dpe(Y)] DO D. O

00 3200,G0GL(V)DO0DOOO p000000O0ODO,0000dp.0 g0 gl(V)ODODODDO
00000000000. 00000 dpO00O0O0, p000O0O0O (differential representation) 00 0. 00O,
p(g) 00000 GOOO, p(X)0000 Lied g00000O0OO.

00 3.2 (p,V)00OD0 LieD GOOOOD, (dp,V)IOOODOOD0OO0. 0000000000000,
() VO G-0000 WO g0OO0D000D.
(2) GO0D00D00D0 ¢0000 WO G-00D00000.
(3y GODO0OO0D00, (p,V)00D0000000 (dp,V)0D0OO0D000000000D000D0.

*500 LieO GO Lied g00000000000.
0002000 20000000000000000000000000000.



00 ()WDGDOO0D00D00,Xeg,weWOOODO,
%(p(exth)w—w)eW (Vt € R).
goo,t—-00000
p(X)w=tli_121(1)%(p(exth)w—w)eW.

DDDDD*7.DDD,W|:| g-00ooobog.
(2) XegweWDOOO, p(X)weW OO
t t? 5 tn "
goo. oo n—>OOD|][ll],p(eXth)’w:exptp(X)wEWDElD. 00 Goooooooo,ooon
geG0 X1, Xo, ..., XppegOOODO, g=(expXy)(expXa)---(expX,,) D0DOO0DODOOD* 000

p(g)W = p((exp X1)(exp X2) - - - (exp X;n))W = p(exp X1)p(exp Xz) - - - plexp Xp )W < W

00000.000,WO G-0000000.
(3) p000D000000.0000,00G-0000W {0}jcWeV)DOoooa. (1),(2)00 wO
¢0000000.000,dp000000. 0000000. O

00 3.3 0000 Lied GOOO (p,V)DO (p,V)000000000 GO Lied g000 (dp,V) D
(dp/,V)0DO0O0D000D00000000000.

oo 00 (p,V)O (p,VH)OODODODODOOD. O0ODO0,000000A:V—->V/'00000,00
O0geG,veVOOOO, A(p(gv) =p(9)A(v) ODDOO. ODDO0ODOD Xeg,veVOOOO,

4 (p(exptf)v—v) _ (p’(exp(zX) - 1) AWw) (VteR).

000 t—»00000, A(p(X)v) = (X)A(v) DOD. 000, (dp,V) DO (dp/,V)DOO00DOO.

O (dp,V)O (dp/,V/)ODODOODOODOD. DO0ODO,000000A:V >V 000O00,000
XegveVOOOO, A(p(X)) = p(X)A(v) D0DDO0. D000 200000000 A(p(X)") =
(X)) "Aw)DODDOoODOO™,

t mo ' tn n
A<v+1'p(X)v+~~+n'p(X) v> = <1+1'p'(X)+~-~+n'p'(X) )A(v) (Vt e R)
000D00. 000 n—o0000, AlplexptX)v) = p(exptX)A(v) D0O0. 00 GOOOODOOO,
000 geGO Xy, X, ..., X, eg0000, g=(expXy)(expXa)---(expX,,,) DO0DDODOODO.

ooodddgeGoOooO,

A(p(g)v) = A(p((exp X1)(exp X2) - - - (exp Xim))v) = A(p(exp X1)p(exp X2) - - - p(exp X )v)
p'(exp X1)A(p(exp Xa) - - p1(exp X )v) = p'(exp X1)p'(exp Xa2) - - - p(exp X)) A(v)
p'((exp X1)(exp Xz) - - (exp X)) A(v)

r'(9)A(v)

*OoooooooooOoOooOoOoOooOoOoooooao.
900 X; 0000000 ¢g0D0000D0.
0 n=2000, A(p(X)*0) = A(p(X)(p(X)v)) = ¢/ (X)A(p(X)v) = o/(X) (o (X)A(v)) = p/(X)?A(v) DO .



0ooooo. 00O, (p,V)O (¢,V)0000o0o. O

0O Lied (ROD Lie0)O00O00O0O0D,00000 (COODODODDO)0DODO0O0DOOODO. O LieOO
Ooo0o0o00 Lie0O0000,00 Lie000O0O00O0O0O0O0OODOODO,00000000000000O
gooboooooo.

00 3.4 g00 Lie00O0O,gc:=C®rg0 g0000000.g000000 (p,V)0000,0 LieO0O
00000 p:g—gl(V)0 gc00000000000000000 pcO000:

pc(X +iY) = p(X) +ip(Y) (X, Yeg).
0000, pc0ge0VODOODOOOOODO.
00 OO0Oa beR, X, YegOODODO,

pc((a+ b)) (X +1iY)) = pc(aX —bY +i(aY +bX)) = p(aX —bY) + ip(aY + bX)
=ap(X) = bp(Y) +iap(Y) +ibp(X) = (a +ib)p(X) +i(a + ib)p(Y)
= (a + ib)pc(X +1iY).

000, pc0ge00g(V)DDOOOOOOOOO.
00,000 X,Y, Z, WegOOOO,

pc([X + Y, Z +iW]) = pc((X +iY)(Z +iW) — (Z + W )(X +iY))
= pc([X, Z] = [Y, W] +i([X, W] + [V, Z]))
= p([X, Z] = [Y, W]) +ip([X, W] + [V, Z])
= [p(X), p(2)] = [p(Y), p(W)] + i[(p(X), p(W)] + i[p(Y), p(Z)]
= [pc(X +1iY), pc(Z +iW)].

oo0,pc0gec0VOOOOODOOOOO. O

0000 pcO00 p0OOODO (complexification) OO0 O.

00 3.5 (p,V)0O0O Lied gO0000O, (pc,V)D g0000 ge000DDO0O0.0000DOOOOOD.
() VO g-OOOO WD ge-000DOODOO.
(2) (p,V)ODDOOOODOO (pe,V)OOODODODOODODODOODDOOOO.

00 (1)0000 WO gOOODOOO0D,000 X, Yeg weWOooono,
pc(X +iY)w = p(X)w + ip(Y)w e W.

000 WO ge-0000000.

(2)00 pO0O0O0OOOO0O0O0.WOVOg-0000000,0000W0OgcgeOODOODOO. 00
OW={00W=V0O0O0.000p.000000.

00 pc000000000. WO VO gOOOOODOO, (1)00 WO g-0000000. 000
W={0l0W=V0O0OO.000 p000ooo. O

00 3.6 0 Lied gO00 (p,V)DO (¢,V)00000000000 Lied ge000 (pe,V) O (P, V')
000O000000000000000.



00 00 (p,V)D (¢,V)000000000. 0000,000000 A:V -V 00000,00
0XegoeVOOOO,A(p(X)v) =p(X)A(v) 0000. 000 ZegeD Z=X+iY (X, Yeg)O
oooooao,

Alpe(Z)0) = Alpe(X + Y )v) = A(p(X)w + ip(Y)o)
— A(p(X)v) + iA(p(Y)0) = p/(X)A(v) + i (V) A(v)
() + i (V) A(v) = ple(X + i) A(v)

)

000, (pc,V)O (pe,V)0O0D00OD0
00 (pc,V) DO (pe,V/)0DDODOODOODOOD. DO0DO,000000 A:V -V 00000,000
Xege,veVOooQg,

A(pe(X)v) = p'c(X)A(v) 3-1)
0000.0000,000¢000000000000000, (p,V)0 (¢,V)000000. O

0100000000 m, : SUQ2) — GL(V,)D0D000 dr, : su(2) — gl(V,) 00000, 000,
su(2) = {XeM(2,C); X*=-X, xX =0}000.

(X)) = %Wn(exp tX)‘ _ (Xesu()
oo,000 feV, 0000
(ra(X)1)(2) = (e tX)1)(3)],_, = S flexp(~tX)2)] _ .

2(t) ;= exp(—tX)2z e C?0000,2(0)=-000.0000 2(¢) = (21(¢),22() (z;(¢))eC)0O0. OO
goog

_ ofday o 0f dz

(X f = ’ ’ .
™ (X)f O0z1 dt lt=0  0z9 dt lt=0

a f
ddﬁho——XzDDDJMMLX—l 61ew@wjumm
gl

0 0
Tn(X)f = fa—zfl(ozzl + Bzy) — 67“’;(721 +02s),
0000
0 0
(X)) = —6—21(@21 + Bza) — 6—22(721 + 029). (3.2)

00 340000,su(2)0000 su(2)00000000000000, su(2)c ~si(2,C) 00000
0(3.2) 000000000 su(2)000 dm, O s((2,C) 000 (dr,)c 000000, 000, (dmp)e 00
(3.2)000000000000000000000. 00, (dr,)c 000 dr, 00000000,

s1(2,C) = {XeM((2,C); rX =0}0000000000000:

oo Cfo1 _fo o
H_h_ny_hJ“&_Lo}



00, m(H)ODO (3.2)00

0
n(H) = —=—
ﬂ—( ) 02121+622 2
000.V,000 " * %k (k=0,1,2, ..., n)0 m(H)000O0OOOO,
T (H) 21" F 20" = —(n — k)21 P 208 + k"R b = (26 — n)z "R 2k (3.3)

000.000,x"*x*0,(H)0000 2% -n0000000000.

oo 3.2m(H)00OQO —n, —n+2, —n+4, ..., n000dr, 000000000, 00000000
ooooooooo. oo m,(H)ODoooooD 200000 W, OODOOODOOO.

00, (X)), m(X_) 00 (3.2) 00

0 0
n(X0) = 22, Ta(X_) = —z1 A
Tn (X 4) Z26z1 T (X-) Zl&zg
ooo. 000,
_ 0, e
T (X )21V Rk = —zp— P (21" F20F) = —(n — k)2 VTR LR (3.4)
Wn(X_)ZlnikZQk —Z1 = 4 (ZlnikZQk) = 7k21nik+122k71 (35)
622
00000, (X4)00200000000000 Cx" %2k (k=0,1,2, ..., n) 000000000
0000000000, 00 mu(X4)2" =0, mu(X_)z"=0000.
WTL(X+) 7"H(X+) WTL(XJr) WTL(X+)
(CZln(;(CZ]_n 12’2(7 s (Czlzgn 1(*@22
WW(X—) / Wn(X—) Trn(X T (X - )/ N
O ) ) )
T (H) mn (H) n (H) o (H)

4 SU()000000000000

0oo0o0o0o,00 (r,V,) 000000000V, 0 SU(R)-0000 W {0yeW <V, 0000,00
3.500 WO sl(2,C)-0000000,SU(2)~S0000 SU(2)000000000000O000,00
3.2(3)000 35 (2)00 (m,,V,) 000000000 ((dny)e,V,) 00000000000000,00
0 sl(2,C)-000000000000000.

00 4.1 (m,,V,) 0 sl(2,C)-0000000000.

00 W={0}0V,0sl(2,C)-000000000,W=V,000000.
W#{0}000,0000010000000weW00000.

w=agz1" +a1z21" tza + -+ apz"eW

0000,00000 100 a,eC(0<k<n)00000. ky:=mingeren{k; ax 20} 000. O (3.4)
0ooooooo,

wn(XJr)n*kOw = 7rn(X+)n7k° (ak021n_k022k0) = (—1)”_’“0 (n — ko)lag, 22"



00000, 2"eWDDD,000 k(0<k<n)0OOO,0 (3.5 00000000,
Ta(X )" F 2 =nn—1) - (k+ 1)z F 2k

00000, x1" *feWwoon. s," *xf (k=0,1,2, ..., 0)0 V,000000,W0V,0000
oo: WoV,. 0000000 WcV,00000,000W=V,00000. O

10 0
DD,(p,V)IZISU(2)DDIZIDDDDDD.Hzlo 165[(2,@)DDDD,Z’H=L§ _165u(2)|]

—i

00, p(tH):V->V0OOOOD. V(m)OO200000000000000.veV(m)DO0OO
plexp s(iH))v = p(teis)v = e™v (Vs e R)

ooooo,

p(iH)v = ime™5v|,_g = imv

000. 000 p(¢H)0ODOODOODOODO, pGH) 000D VOOODODOODOO,000 SU(2)000
gopboroooooooOoopooooo. oo

Vim)={veV; p(iH)v = imv}. (4.1)
00,sl(2,C) 000 (dp)e D00 dpOODOOOOD.

00 41 veV(m)00O0,000000000.
(1) p(X1)v e V(m +2),
(2) p(X4)p(X-)v — p(X_)p(X4)v = p(H)v = mo.

00 (1) p(Xy)veV(im+2)000O.

—_

Ao ol ol

10 1 |0 1 :
T I

p(iH)p(X ) — p(X4)p(iH) = 2ip(X+).

o

goood, pdboobbogog

00O
p(iH)p(X+) = p(X4)p(iH) + 2ip(X ) = p(X1)(p(iH) + 20)
000.0000eVO000000,0 (4.1)000 p(iH)v=smv00000,
p(iH)p(X1)v = p(X4)(p(iH) + 2i)v = i(m + 2)p(X 4 )v.
000, p(X;)weV(m+2)000. p(X_JweV(m—2)0000000000.
(2)
0 1]fo o] [o o]fo 1 1 0] [o o
X Xo] =X X = XX = [o 0] [1 0] B [1 0] [0 0] B [0 o] B [0 1]
1 0
- [0 —1] =H



00O00O0, 0000000 (4.1)00
P(X1)p(X_)v — p(X_)p(X1)v = p(H)v = —ip(iH)v = mv

gooog. U

00 4.1 SU(2)000000000000000 (m,,V,) (ne{0}uN)DOODOO.

00 vVOOoooOoOoon0000,0041000000000000.

p(X4) p(X4) p(X4)
/—\
—V(n—4)+——V(n—-2)«—V(n)
p(X=) o T (X)) T x T (X)) N
N o/ b
p(H) p(H) p(H)

Vin)D0OOODODO v OO0OOO,vpOO0O VODOOO sl(2,C)-00000 V,0000000000000.
vp = p(X_ ) (k=0,1,2, ...)

gogo.ooog,od
p(X v =k(n—k+ Dug—y (k> 0) (4.2)

000O0. k0000000000, k=10000, p(Xy)vy =000000,00 41 (2) 00
p(X )y =nve00000. k—1000000000000, u-1€V(n—2k+2)00000,00 4.1
(2)0DO

p(X)vk — p(X)p(X i )ve—1 = (n— 2k + 2)vp—
0000, p(Xo)p(Xp)vg—r =p(X)(E=1)(n—k+2)vp_a=(k—1)(n—k+2)vp_, OO0
(X vg=(n—2k+2vp_1+ (k—1D(n—k+2)vg_1 = k(n —k+ 1)vg_;.

00O0,0 (42)00000.

00,00 4.1 (2) 00 p(H)ve = (n—2k)y, 0000, VOODOO00000 p(H)000000000
0O,v (k=0,1,2 ...)00000000000000. 000,000000mO0O0O0O0,000
Ek<mO000, v =p(X ) 2000 vypey = p(X_ )" oy =00000. v,y =0000,0000
p(X i) omi1 =000000,0 (4.2)00

0=p(Xi)vms1 = (m+1)(n—m)uy,.

000,v, #000m+1#000000,00000000000m=n000000000. 00
00 v, v1, ..., v, 0 p(H)0ODDDO0O000D0O0000D00000O0O0000 1000000, 000
vo, V1, ..., v, 00000 VOOOOOO WOODOO,WOO0000 p(H), p(X4), p(X_)00D000
0,000 WO sl(2,C)-0000000.000, (p,V)0000000W=vVOO0o.

1 1

U]_/ = —gvl, U2/ = m’l}z, ey Un/ = (—1)”5’1}77/

10



oooo,

LX) = ( 1)kn(n —1)--(n—k+ l)p(X*)vlC
= —(n— k)vesr’ (4.3)
000,00 (42)00000,
(X )it = (—1)FH ! P(X4 )0k

nn—1)---(n—k)
1

= (=D Yk+1
(=)™ )n(n—l)---(n—k—i-l)vk
= —(k+1)vy (4.4)
00000. 000 v, v/, ..., v,/ 0000,0000 2% 212", ..., 2" 000000 Cu &

Co/® - @®Cv,/ 00 V,000000 A0DDOOO, D (4.3),(44) 00 (34), (35000000000
0,A0sl(2,C)-0000000000000.0000,0000000000.

000,00 3600 (dp,Coy’ ®Cvy/ @ ---@®Cvy,/) O (dmy,,V,) 000000, 00000 3300
(p,Cvy’ ®Cv1'®---®Cv,/) 0 (m,,V,) 000000. 000,00000000. O

000,SU(2)0000000000 (p,V)0000000000, (p,V)000000000 (m,,V,) 0O
ooooooono:

(pa V) =~ C—D (Wn(j)v Vn(])) (dlmV = 2 dim Vn(])) . (45)
j=1

j=1

5 SO3)00000U0OoOoUoooUn

00000 SU()D0O0D SO(3)0000 2000000000,000000000000000. 0
0,SU((2)0 SO(3)000000000000OD0O0.

00 5.1 SU(2)00000 AdO SU(2)00 SO(B)00000000,20 1000000. 00,00
00 {+x,} 000: SU(2)/{+I2} ~ SO(3).

ooo, (p,V)0O SO3)0000000,00 510000 Ad0OOOOOOOOO, SU(2)000
p:SUR2) - GL(V)ODDDOO*, 00,g¢e SUMR)DDODD, plg) = p(Adg) 00000, 000
g1, g2€SU(2)000ODO,

p(g192) = p(Ad g1g2) = p((Ad g1)(Ad g2))
= p(Ad g1)p(Ad go)
= p(91)p(g2)

000000 (p, V)0 SU(R)0D0 “0000” 000 00007 000.
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000O0O0. 000 (V)0 SU()oo0ooon.

SU(2) 24, 50(3)

ooo, (5,V)00000000,80U(2)-0000W ({0}e¢WeV)0OOOD. 000 AdDOOOOO
0O,W0SO@3)-0000000000000,(p,V)000000.0000, (p,V)000000 (5,V)0
00000.000,004100 (5,V)000 (r,,V,)0000000,00 5100 KerAd = {+1,} O
0oooo,j(-L)0vVoooooooo. oo,

Tn(—I2)21 " 2k = (=21)" T F(=2)" = (1) P2t

00000,n000000000000*. 000,n=2m (me{0}uN)O0OO, p,oAd=my, 00
00 S03)00000 (pm, V) O well-defined 0000, SO(3) 00000000 (p,V)IOO (pm,V) O
00000.m#m 000, (pm, V) O (o, V)OOOO0O0O000000000, (pm, V) % (pmr, V') OO
oo.

00,0000 SO03)00000000000. SU(Q)UDO0DO0OONOOODODODOO, SO(3)0
REOODODDO0OO0mOOOOO0OO0OOO W,, 000000 (Lg, Wy,) O

(Lyf)(x) = f(g™ x) (5-1)

000000000.000,9e80(@3), feWp, zeR3000. 000 m=>2000 (L, W,) 0000
00000000, 000, W, 0 212+ a2 +2,200000 SO@B)-0000000. 000, SO3) 00
0ooooooo w,, 000 SO(3)-0000000 Laplace00DO0ODO,0000000000000O0OD
ogooao.

R3 00 Laplace 000 (Laplace operator) A [

A= +

oooooo. 0 (s.1)0 Ly O Laplace000 ADDODDODDODODDODODODODO.
oo 5.1 g¢geSO3)000,L,0 ADODODOOO. OOOO

AolLy=LgoA.

00 y:=¢g'2000. g=1(gij)1<ij<3, == (T1,22,23), y = (y1,92,y3) 0000, y; = Z?:l 9i5T;
00000,R3 0000000 f0000,

N, (-2)0 V,00000000.
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goo.ooo

Ooooo*? fOO0000000,000 AoL,=L,oA000. O
) g g

Laplace 0000 W,, 0000 Alw,, : Wi = Wi 000 U, 000: Uy, := {f € Wi ; Alw,, f = 0}.
U,O0O0O0 mOO00000 (harmonic polynomial) 00 000. 0000, Ay, 00000000000
ooo,

dim W, = Mw dim U, = <m+1)2(m+2) _ (m—21)m —om 1.

L™:=L,lp, 0000. feU,, 000,00 51000000 geSOB)0000 AL™f=L"Af=0
00000, L™fel,000.0000U,0 SO@B3)-00000,U,0 SO@B3)-00000 {0}0 U, O
000000000,000 SO(3)000 (L™ U,)000000. 000 L™(g)000000 ¢g0000
00000000,000 L"000000,000 L"0000000.

00 5.2 (1) L™ 0O p, (me{0}uN)ODOODDO.

(2) SO03)00000000000O0000 (L™ U,) (me{0}uN)OODOOO.

00 (1) 7 =L"oAdODOO,n,0 L™0O SU(2)00000000000 7,0 SU(2)0 U, 00

. 1 0
0000000, fm(z1,22,23) = (21 —ixe)" e U, 000. H= lO ]es[(Z,(C)I:IDD

Gt 0 cos2t —sin2t 0
Ad (expt(iH)) = Ad [ it] = [sin2t cos2t 0] e SO(3)
0 e
0 0 1
ooooo*s,
1 cos2t —sin2t 0] " 1 21 cos 2t + xo sin 2t
(T (expt(PH)) frn) |22 | = fim sin2t cos2t O To = fm | —21 802t + 25 cos 2t
T3 0 0 1 T3 T3
= {(z1 cos 2t + w2 sin 2t) — i(—x1 sin 2t + x cos 2t)}™
= {(cos 2t + isin 2t)(x1 — ix2)}™
_ eQimt(xl _ ixz)m.
oo

() o = T exp ) o] = 20m

12000 2000 2000000,k=1000Y7 ,gikgu=1,k#1000 3>, girgu =00000.
*B3opoooono,0n00sSU(2)0 SO3)000000NONOnog.
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ooooo. dn, 000000000,
T (H) = 2mfp, (5.2)

000.0 (4500 8U@2)000 (rm,U,) 000000000 (x,,V,) 00000000O:

T

(T Unm) = @ (Tni): Vo) - (5.3)

j=1
0 (52)00,00 7,;000002mn00000,0 (3.3)00 2m<n(j), 0000

2m+1<n(j)+ 1.

00,0 (5.3)00
2m + 1 =dimU,, > dimVn(j) = TL(]) + 1.

000 2m+1=n(j)+100000, 7y =7,; 000000000000. L™ o0 Ad = Tam = pm o Ad
00000,000 L™O p,000000.

(2) SO(3)00D000000 (p,V)DODO (p,V)DODOOD, (1) 00 (pm,V) D (L™ Uy,) D000
0ooo,000 (p,v)o (L™ U,)000000. O

000,S0(3)0000000000 (p,V)ODODDOOOOODO, (pp,V)ODOODODODODOO (L™ Up)
gooboobobo:

(p, V) ~ 6—)1 (Lm(j),Um(j)) (dlmV = 2 dim Um(g)) .
j= j=1

00O0,SU(2)0 SO(3)00000000000000000000000,000000000000,
Le0000000000000. 00000000,0000000000 HaarDOODOODOODOO
00.0000000000,000000000,00000000000000,00000000000
000000000000,00000000000.

0000000 SU(2) 0 SOB)000000000000000000 Sugiura [4, 00,00 [500
ooooooo.
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